Text Messages

A number in a little box is put into a wonderful big box that adds something to the
number and then a new number comes out at the end:
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The first time this happens, 10 is put into the little box, so what happened in the big
box to get the answer in the picture above?

Now three more boxes with new numbers in, go into the wonderful box one at a
time. It still does the same as before.
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CAW Online Learning Expectations

So that we can learn online:

| will listen when my teacher is talking. 5tay near to your laptop/tablet so that you can hear your
teacher.

| will be on time. Get your laptop/tablet ready before your session is going to start. 5it at a table
and have some paper and a pencil with you. Your teacher will start at the time you have been
given.

| will be respectful. Take turns to speak or ask questions. Click on the raise hand button and wait

for your teacher to give you a turn to speak. If you want to answer ‘yes’ or ‘no’ click on these
buttons.

| will be kind. Think before you send messages. Is this true? helpful? necessary? kind?

| will be ready for learning. Wear appropriate clothes and try not to have breaks during the session
e.q. having a drink or going to the toilet.

If possible please can you wear headphones to help prevent distractions during the lessons!




Please read the below text and make your choice. Then click Send.

Produce

Closing in 113 seconds.

Text Messages
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Fluency

Let's count up in...
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Two children completed the following
calculation:
1234 + 345

Jack is calculating 506 + 243

Here is his working out. b My answer is 1589
Dora

L Both of the children have made a
Can you spot Jack's mistake? mistake in their calculations.

Work out the correct answer, Calculate the actual answer to the
question.

What mistakes did they make?







Calculate the answers to these questions = the formal column method has been laid out for
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2. 6 8 6,235 6.9 |5 2

+3.531 s2b b2 -b321

Complete the following calculations using the formal column method - use the squared paper on the
next page

a.B,273 + 1519

b.5,532 + 2,393
c. 2,556 + 6,642
d. 8,273 + 1,519
e. 5,532 + 2,353
£ 2,556 + 6,642
E- 3,648 + 5,261
h. 223+943

Can you find out what the missing digits are in this formal
column method calculation?

Flaming hot “j

Harley says that there is more than one possible answer for
the missing numbers
in the hundreds column. Is he correct?

Explain your answer.
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Ways to keep in touch and take part in learning:

* Please see the CAW Live Lessons tab on the school website to
access this PowerPoint and your Learning Task.

* Remember you can email any home learning work to: @

 Don't forget you can still use Purple Mash to stay in touch with
your friends and teachersl!

Any questions?




